SuMPO EPD
1T NRBES

SuMPO

..E PD

AAAAA

VERIFIED

(EPD)

Z5ES © JR-Al-26084E

BEEL
BmlesHiY

BEX REPE
W& A

ClepfE B
R RREERBE - EEEERBE - TUEERPE

R - MR EERR (REE-UY1IVERRE
HMOB, T2 -

B 1 £/70#E A #/Monochrome MFD
TASKalfa MZ10500i(US)
CBFEEAR (EP)

FNRIZRE : £/70 : 105 #y/%

YA Z : ®K 134YF x 19.21YF/SRA3
TEENR © EELE

-/ b/ A%+ /FAX(Option)
FERRBEFnAHs : RELERE

A

mEWEhE%L
REIRFIADIINI1-230 X (RR)

SUMPOIRIES NI TOIS L
— AR A AT F IR E HEEE
HREFREXAMHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

B/OOEEHE
/Monochrome MFD

TASKalfa
MZ10500i(US)

RESREFIXD M 1330 kR att
/ KYOCERA Document Solutions Inc.

ERES
HEAPCRES
PCR%

A
RIES1ER
BEEA R
RIEES
HREEH 2 HAR

JR-AI-26084E
PA-590000-Al-08
EfRAH O
202657/ 10H
20265673 24H
VAT LEREEST
JV-AI-26084E
203146/ 23H

PCRLE1-DEE
REHZ 20234 98 1H
ZER Ml EZ

B=EHIRAE
HNERIRFES

—REAEEIEA D R T TR EHEENAE

WH #<

ISO14025(CfE21=AE ERUT—F DML LIAREE

OAEB WAER

*YAT LA EZ IR EFROIREDS SR, YATLARAET>LEEED

HEIET .

SRESREEALD (SHAMHRII2158 TEL: 06-6764-3764
https://www.kyoceradocumentsolutions.co.jp

BRES

JR-AI-26084E



SuMPO

o ...E PD

AAAAA

VERIFIED

SuMPO EPD
4T NERBES (EPD)

E5&ES ¢ JR-AlI-26084E

SUMPORIESANILTOIS I
—RRAEIEAY AT T IR EHEEHS
RREFREXAFHET-14-8
KANDA SQUARE GATE
https://ecoleaf-label jp

OF17Y1 7V B R

0% 20% 40% 60% 80% 100%
SUEZE) IPCC 2013 GWP 100a 3100 | kg-CO.eq
7 qe (4 5.50 | kg-SOzeq
ERHE 0.13 | kg-Sbeq o
EOFRAHAZE nQLE nQFE nDEA-HEEE nOFEE- YY1/
AR IHH Bify a%F OEMERE| Q%R QitiE |0 #EEE OEE- VS
RURZED kg-CO.eq | 3.1E+03 1.2E+03 2.6E+01 1.9E+02 1.5E+03 2.5E+02
AV BRIR kg-CFC-11eq| 2.5E-04 1.5E-04 4.6E-06 2.4E-09 8.9E-05 6.4E-06
732 (d kg-SO.eq | 5.5E+00 1.1E+00 7.1E-02 4.5E-01 3.5E+00 3.6E-01
HAEFEAFIT I kg-CoHseq | 5.3E-02 3.2E-02 3.8E-04 1.1E-03 1.8E-02 9.1E-04
EXREL kg-PO.*eq | 1.3E-01 2.8E-02 5.9E-04 2.0E-09 1.1E-01 2.2E-04
BREE kg-Sheq 1.3E-01 8.6E-02 1.5E-04 8.1E-04 4.6E-02 4.2E-04
B 525
__#H o RS | KE
Eiﬁjﬁsé;ﬁ 4:7E+02 kg S
N @EEERKRE - /70 : 1,651,200
BEREEIRY- 3.8E+03 M) )
Q@E‘GRENERE (EIRIFK) OBFEE LELTVEEA,
3 % 2 (- R 3 2,42 -BAREELCAVWRYFUAICBVTERE LR S
MR- ME (ERES) s P BB \7")798;({‘@3% (EPA)
3m 7 9E+01 kg {ERIRINF-RT-T0I I LVer3 2% @A
SuUS 2 3E400 kg CHFEMERSAELERCEMTTHNSRFTEAEXIN
Cu 326400 kg LEFER - HIFEEERRICE Langd,
Al 2.2E+00 kg
EREA 2R 5.2E+01 kg
AR MRS 5.8E-01 kg
=N 2.2E-01 kg
® 2.0E+01 kg
FEFEMR 5.0E+00 kg
FEIE-4 5.4E+00 kg
n IR 7.5E+00 kg
At 1.6E+01 kg
ZOftES - BT 1.1E-01 kg




SUMPOBRIESANITOI T A

SEuMI':’;’D SUMPO EPD — R A Y AT I B A

N .. AAAAA SAFNBEBEEE (EPD) AT AR PR 148
VERIFIED KANDA SQUARE GATE
BFERES © JR-AI-26084E https://ecoleaf-label.jp

©-1.Z Dt DIRIZEE B IR

CERIRINF-RI-TOJSLEEICEALTVES,
-ISO14001 R EBB ITIH CEELTWET,
AENN-OTSAFYIICNDT Y ZRERFZFEARLTWE A,

DERLEZRT-IDEXS

FREIIZIDEA ver3.1.0 R U'SUMPOEIESAI FOJ S L& T -Iv1.16&EBLTVNET,

®fF%E

@7 -FHEDAEIE PCRELUVETE - EERBEESRBL TSI,
OLLRIDOVNTE, BE - EEREBICREINLZHFEHLLLIGEILYIRHONEEA.
(ZH%URL ! https://ecoleaf-label jp/regulation/)

F#H®ES © JR-AI-26084E



